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Vehicle Fitting List

Glide Plus 360
Approach Plus 360
Dream i-Size
Motion 2 All Size 360
Balance i-Size
Discover i-Size




IMPORTANT SAFETY GUIDE

DO NOT USE ON A PASSENGER SEAT
WITH A FRONT AIRBAG, IT IS VERY
DANGEROUS AND ILLEGAL (YOU
MAY BE ABLE TO DISCONNECT

THE AIRBAG MANUALLY OR
AUTOMATICALLY TO COMPLY WITH
THE LAW). REFER TO YOUR VEHICLE

HANDBOOK.

IF POSSIBLE, SILVER
CROSS RECOMMEND
FITTING THE SEAT IN
THE REAR SEAT OF
THE VEHICLE, IT IS
STATISTICALLY SAFER.

For the latest vehicle fitting lists
please refer to the Silver Cross
website:
www.silvercrossbaby.com/
customer-service/instructionmanuals

or on the Silver Cross App.
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This fitting-list was carefully prepared
using scientific data collected from
both vehicle and car seat. No liability
is accepted for the accuracy of the list,
which is for guidance purposes only.
You are advised to check that the seat
you purchase is compatible with your

car at the time of purchase.

VEHICLE FITTING INFORMATION

The numbers on the diagram below correspond
with the vehicle fitting positions listed in the

following pages.
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If your child restraint can be fitted, it is marked
withY.

If your child restraint cannot be fitted, it is
marked with N.

If your vehicle is not listed in this manual or it is
not marked with either a Y or N then please refer

to your vehicle’s handbook or

contact the manufacturer for further
information. Seat positions in other cars may also

be suitable to accept the child restraint.



Silver Cross Car Safety Collection

Glide Plus 360

i-Size infant carrier
with Base Plus 360

Birth - approx. 18m.

40-87cm
13kg

Fitting Method:
Base Plus 360
OR
Vehicle 3 point

seatbelt only

Approach Plus 360

Multi stage seat with

Base Plus 360

Birth - approx. 4y.
40-105cm
19.5kg

Fitting Method:
Base Plus 360 only

Dream i-Size

i-Size infant car seat

with fixed base

Birth - approx.15m
40-85cm
13kg

Fitting Method:
Dream i-Size base
OR
Vehicle 3 point

seatbelt only

Motion/Motion 2
All Size 360

All Stage car seat

Birth - approx. 12y.
40-145cm
18kg

Fitting Method:
40-105¢cm:
ISOFIX and Support

leg
105-145cm:

ISOFIX only

Balance i-Size

Multi stage seat

15m - approx. 12y.

76-150cm
21kg

Fitting Method:
76-105cm:

ISOFIX and Top Tether

105-150cm:
ISOFIX only

Discover i-Size

High Back Booster

4 - approx. 12y.
100-150cm

Fitting Method:
ISOFIX and 3 point

vehicle seatbelt
OR
Vehicle 3 point

seatbelt only
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Discover i-Size/Discover

Essentials

Seating Positions

BALANCE i-Size/Balance

Essentials

Seating Positions

MOTION/MOTION 2

ALL-SIZE 360

Seating Positions

DREAM on Isofix Base

Seating Positions

APPROACH PLUS 360

WITH BASE PLUS 360

Seating Positions

GLIDE PLUS 360

WITH BASE PLUS 360

Seating Positions

2

1

y*

y*

y*

y*

y*

y*

i-Size

NOTES

FRONT SEAT SPACE REDUCTION WHEN

DREAM FITTED

FRONT SEAT ROOM REDUCTION MAY

BE EXPERIENCED WITH A REAR FACING

SEAT. BALANCE I-SIZE ONLY

COMPATIBLE IF APPROVED VEHICLE

TOP TETHER POINT IS PRESENT.

Vehicles

BMW 2-Series Coupe (2014 >)

BMW 3 Series (f30) (2012 >)
BMW 3-Series (E46) Coupe (2002 - 2006)

BMW 3-Series Coupe (E90) (2007 >)

BMW 3GT (2013 >)
BMW 4-Series Gran Coupe (2014 >)

BMW 5-GT (2010 »)
BMW 5-Series (F10) (2011 >)
BMW 5-Series (E60) (2003 - 2010)

BMW 5-Series 2018 (2018 >)
BMW 6-Series Cabrio (2011 >)
BMW 6-Series Coupe (2Dr) (2011 >)
BMW 6-Series Gran Coupe (4Dr) (2011 >)

BMW X1 (2009 -2015)
BMW X12016 (2016 >)
BMW X3 2007 (2007 >)
BMW X3 (F25) (2011 >)

BMW 7-Series (2010 >)
BMW 7-Series 2015 (2015 >)

BMW X3 2018 (2018 >)

BMW X4 (2014 >)

BMW X5 2000 (2000 - 2006)

BMW X5 2007 (2007 - 2014)
BMW X5 2015 (2015 >)

BMW X6 (2009 »)
BMW X6 2015 (2015 >)

BMW i3 (2014 >)
BMW i8 (2014 >)
BMW iX (2021 >)

BMW ix3 (2022 >)

Bentley Continental Flying Spur (2005 >)

Bentley Continental GT (2003 - 2012)
Bentley Continental GT Conv (2006 - 2012)

Bentley Mulsanne (2012 >)
Cadillac BLS (2005 - 2012)

Chevrolet Aveo 5dr (2012 >)

Chevrolet Captiva (2010 >)
Chevrolet Cruze (2011 >)
Chevrolet Orlando (201 >)

Chevrolet Spark 5dr (2012 >)

Chevrolet Traxx (2013 >)
Chevrolet Volt (201 >)

20F 15



GLIDE PLUS 360
WITH BASE PLUS 360

APPROACH PLUS 360
WITH BASE PLUS 360

DREAM on Isofix Base

MOTION/MOTION 2
ALL-SIZE 360

BALANCE i-Size/Balance

Essentials

Discover i-Size/Discover

Essentials

Seating Positions

Seating Positions

Seating Positions

Seating Positions

Seating Positions

Seating Positions

Vehicles

NOTES

i-Size

Chrysler 300C (2012 >)

Chrysler Delta (2007 >)

Chrysler Grand Voyager (2008 >)

Chrysler Ypsilon 3dr (2012 >)

Citroen Berlingo Il SB! (2008 >)

FLOOR STORAGE COMPARTMENT
PRESENT

Citroen Berlingo Multispace SB! (2007 >)

FLOOR STORAGE COMPARTMENT
PRESENT

Citroen C-Cactus (2015)

Citroen C12015 &dr (2015 >)

Citroen C13dr (2006 >)

Citroen C3 5Dr (2009 >)

Citroen C3 5dr 2005 (2005 - 2009)

Citroen C3 5dr 2016 (2016 >)

Citroen C3 Aircross (2017 >)

Citroen C3 Picasso SB! (2009 >)

SUPPORT LEG TO BOTTOM OF
STORAGE BOX

Citroen C4 G-Picasso 2007 SB! (2007 - 2013)

SUPPORT LEG TO BOTTOM OF
STORAGE BOX

Citroen C4 G-Picasso SB! (2014 >)

SUPPORT LEG TO BOTTOM OF
STORAGE BOX

Citroen C4 Picasso SB! (2007 - 2013)

SUPPORT LEG TO BOTTOM OF
STORAGE BOX

Citroen C5 (2008 >)

Citroen C5 2005 (2005 - 2008)

Citroen C5 Aircross (2019 >)

Citroen C5 Tourer (2009 >)

Citroen DS3 (2011 >)

Citroen DS3 Cabrio (2013 >)

Citroen DS3 Crossback (2019 >)

Citroen DS4 (2011 >)

Citroen DS5 (2013 »)

Citroen DS7 (2018 »)

Citroen Jumpy (2007 - 2016)

Citroen Nemo (2008 >)

Citroen Xsara 5dr (2000 - 2004)

NO ISOFIX IN MODEL ASSESSED

Citroen Xsara Picasso SB! (2000 - 2012)

SUPPORT LEG TO BOTTOM OF
STORAGE BOX

Cupra Terramar (2024 >)

Cupra Tavascan (2024 >)

Cupra Born (2021 >)

Cupra Formentor (2020 >)

Cupra Leon (2020 >)

Cupra Leon Estate (2020 >)

Cupra Ateca (2018 >)

<| <| <] <| <| <|=<

Dacia Duster (2012 >)

Dacia Jogger (2022 >)
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y*

Balance top tether - recline seat to

pull tether tight - top tether point

behind vehicle headrest.

Recline and Rotate not useable

when forward facing

DREAM ISOFIX BASE DOES NOT FIT

WELL DUE TO POSITION OF VEHICLE

ISOFIX
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Infiniti G Saloon (2009 >)
Infiniti M Saloon (2010 »)

Infiniti Q50 (2016 >)

Jaguar E-Pace (2018 >)
Jaguar F-Pace (2016 >)
Jaguar F-Type Coupe (2014 >)
Jaguar I-Pace (2018 >)
Jaguar X-Type (2001 - 2010)

Jaguar XE (2015 >)

Jaguar XF (2008 >)

Jaguar XF 2015 (2015 >)
Jaguar XF Estate 2015 (2015 >)

Jaguar XF Sportbrake (2012 >)

Jaguar XJ (2010 >)

Jaguar XK Coupe (2006 >)

Jeep Cherokee 2014 (2014 >)

Jeep Compass (2011 >)
Jeep Grand Cherokee (2011 >)
Jeep Renegade 2015 (2015 >)

Jeep Wrangler 5Dr (2007 >)

KIA Ceed 2020 (2020 >)

KIAEVE (2022 >)

KIA Sorento 2015 (2015 >)
KIA Sorento 2020 (2020 >)

KIA Soul EV (2015 >)
KIA Soul EV 2019 (2019 >)

KIA XCeed (2020 >)

Kia Carens 2013 SB! (2013 >)
Kia Cee'D Hatch (2012 >)
Kia Cee'D Hatch (2012 >)

Kia Niro 2017 (2017 >)

Kia Niro Hybrid 2022 (2022 >)

Kia Optima (2011 >)
Kia Optima 2016 (2016 >)

Kia Picanto 2012 5dr (2011 - 2015)

Kia Picanto 2017 > (2017 >)
Kia Picanto 5dr (2008 »>)

Kia Rio (2012 >)

Kia Rio 2017 > (2017 »)

Kia Sorento (2012 >)

Kia Sorento (2003 - 2009)
Kia Soul (2009 »>)
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NO APPROVAL AS STORAGE BOXES

PRESENT IN MODEL ASSESSED

NO APPROVAL AS STORAGE BOXES

PRESENT IN MODEL ASSESSED

— ~
o
w ©
o 2
] o
[a ) =] [t}
5 O 7]
o = o
—_ c a <
2| o
— (7] c
i} = o
o W =)
o}
3 o}
8 » o~
@
[a) —_
® ~
2
ke, 2 ©
o} [}
£L o = w
O 17
Q= |6
» < a <
1 Q (o))
]
w9 £
it =} ®
Q o
=z o]
< [} ~
3
<<
o -
~
N « ©
8 o | §
o 2|82 -
58 |%
i o
N N a <
@
z 9 2
O 3 | = ©
=< o)
o D
M w o~
~
3
o} 2 ©
@ o
£ | £ B
e} w
2 e <
c
s |2 "
M =
3 3
5 7] ~
[a)
~
o
© w » ©
m ™ S
w w = e}
= — (%]
T = 3
I w o <
5%\
o 2|35 ©
& I o}
T E|8& ~
I 2
~
o
© [} ©
g 2|5
o3|z ©
S o o
= a <
T o o
w < c
o m = ™
P o}
®E 8 [ <
o
N
w
L
w
&
o
o
z
@
<
2
ey
[
>

Nissan Quest MPV (2012 >)
Nissan X-Trail 2016 (2015 >)
Opel Adam (2013 >)

Opel Agila (2008 >)

Opel Ampera (2011 >)

Opel Antara (2007 >)

Opel Astra 2003 5dr (2003 - 2009)

Nissan Qashqai+2 (2008 >)

Opel Astra 2010 5dr (2010 >)

Opel Astra 2015 (2015 >)

Opel Astra GTC (2011 >)
Opel Corsa 5dr 2015 (2015 >)

Opel Corsa Hatch 5dr (2006 >)
Opel Insignia Hatch (2009 >)
Opel Karl (2015 >)

Opel Meriva (2010 >)

Opel Mokka (2013 >)

Opel Vectra 2005 (2002 - 2008)

Opel zafira (2005 >)

Opel zafira Tourer (2012 >)
Peugeot 107 3dr (2005 - 2013)

Peugeot 108 5dfr (2015 >)

Peugeot 2008 (2013 >)

Peugeot 2008 2020 (2020 >)

Peugeot 206 5dr (1998 - 2009)
Peugeot 207 3dr Hatchback (2006 - 2012)

Peugeot 207 5dr (2012 >)

Peugeot 208 2020 5dr (2020 >)

Peugeot 208 5dfr (2012 >)
Peugeot 208 EV 2020 5dr (2020 >)

Peugeot 3008 2017 (2017 >)

Peugeot 3008 SB! (2009 >)

Peugeot 307 Hatchback (2001 - 2007)

Peugeot 308 (2014) (2014 >)

Peugeot 308 Hatchback (2007 >)

Peugeot 407 (2004 - 201)

Peugeot 5008 SB! (2011 >)

Peugeot 5008 SB! (2018 >)

Peugeot 508 (2011 >)

Peugeot 508 2019 (2018 >)

Peugeot 508 Estate PHEV 2019 (2019 >)

Peugeot Bipper Tepee (2008 >)
Peugeot Expert Tepee (2008 >)

Peugeot Partner Combi (2004 - 2010)

Peugeot Partner Teepee SB! (2008 >)
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GLIDE PLUS 360
WITH BASE PLUS 360

APPROACH PLUS 360
WITH BASE PLUS 360

DREAM on Isofix Base

MOTION/MOTION 2
ALL-SIZE 360

BALANCE i-Size/Balance

Essentials

Discover i-Size/Discover

Essentials

Seating Positions

Seating Positions

Seating Positions

Seating Positions

Seating Positions

Seating Positions

Vehicles

NOTES

i-Size

Peugeot RCZ (2011>)

Peugeot Traveller 2016 (2016 >)

Polestar 2 (2021>)

Recline and Rotate not useable

when forward facing.

Porsche Cayenne (2011>)

Porsche Cayenne 2017 (2017 >)

Porsche Cayenne E-Hybrid (2015 >)

Porsche Macan (2014 >)

Porsche Panamera (2011 >)

Porsche Panamera E-Hybrid (2015 >)

Renault Captur (2015 >)

Renault Clio 5dr (2005 - 2013)

Renault Clio 5dr 2013 (2013 >)

Renault Espace (2003 - 2012)

Renault Grand Espace (2003 - 2012)

Renault Kadjar (2015 >)

Renault Koleos 2018 (2018 >)

Renault Laguna Sport Tourer (2008 - 2012)

Renault Megane Hatch 2016 (2016 >)

Renault Megane Hatch SB! (2008 >)

Renault Megane Hatch SB! (2002 - 2009)

Renault Modus (2004 - 2012)

DREAM ISOFIX BASE DOES NOT FIT
WELL DUE TO POSITION OF VEHICLE
ISOFIX

Renault Scenic 2003 SB! (2003 - 2009)

NO APPROVAL AS STORAGE BOXES
PRESENT IN MODEL ASSESSED

Renault Scenic 2017 SB! (2017 >)

Renault Scenic SB! (2009 »>)

NO APPROVAL AS STORAGE BOXES
PRESENT IN MODEL ASSESSED

Renault Twingo 2015 (2015 >)

Renault Twingo 3dr (2007 >)

Rover 25 [ Streetwise (1999 - 2005)

SAAB 93 Sport Wagon (2005 - 2012)

SAAB New 95 (2011 - 2012)

SEAT Alhambra SB! (2010 >)

SEAT Altea (2004 - 2012)

SEAT Arona (2021 >)

SEAT Arosa (1997 - 2004)

SEAT Ateca 2018 (2018 >)

SEAT Cupra Born EV (2022>)

SEAT Exeo ST (2008 >)

SEAT Ibiza 2018 (2018 >)

SEAT Ibiza HATCH 5 door (2008 - 2013)

FRONT SEAT SPACE REDUCTION WHEN
DREAM FITTED

SEAT Leon FR (2006 - 2012)

SEAT Leon (2000 - 2005)

SEAT New Toledo (2013 >)
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